
 

 

 



 

 

 



 

 







 





 

 

1+5

2 

6+10

2
 

11+15

2

16+20

2

21+25

2



1+5

2



∑𝑥

𝑁

∑𝑥

𝑛

   



 𝑥𝑣 =   
  ∑𝑣·𝑥

∑𝑣

∑𝑣·𝑥

∑𝑣

  
8·0,30+5·0,70

1,00
 



 

∑𝑣·𝑥

∑𝑣

55·100+45·200

100+200

5500+9000

300

14500

300

 

 

∑𝑓·𝑥

𝑁



∑𝑓·𝑥

𝑁

6310

80

 



 

 

 

 

 



|−𝑎| |𝑎|

∑|𝑥−𝑥|

𝑁

| |



  √
∑( 𝑥−𝑥 )2

𝑁−1
 



∑𝑥

𝑁

3+4+5 +6+7+8+9

7

42

7

 

                                                 5               7 

 

                                      4                                     8 

 

 3                                                         9 

 

3      4      5      6      7      8      9 

x 



 

 

 

  = 
∑|𝑥−𝑥|

𝑁
 

 

             = 
12

7
= 1,7 

 

 

 

|𝑥 − 𝑥|

|3 − 6| = 3

  |4 − 6| = 2

|5 − 6|  = 1

|6 − 6| = 0

|7 − 6| = 1

|8 − 6| = 2

|9 − 6| = 3

|𝑥 − 𝑥| = 12

 

. 

 

        √
∑( 𝑥−𝑥 )2

𝑁−1
 

 

       √
28

7−1
 = √

28

6
 =  

                                          √4,667  = 

2,2 

 

( 𝑥 − 𝑥 )2 

( 3 − 6 )2  = 32 = 9 

( 4 − 6 )2 = 22 = 4 

( 5 − 6 )2 = 12 = 1 

( 6 − 6 )2 = 02 = 0 

( 7 − 6 )2 = 12 =  1 

( 8 − 6 )2 = 22 = 4 

( 9 − 6 )2 = 32 = 9 

∑ ( 𝑥 − 𝑥 )2 = 28 



. 

   x    f  f·x |𝑥 − 𝑥| f · |𝑥 − 𝑥| 

   

3 

  1    3 |3 − 6| = 3  1·3 = 3 

   

4 

  3  12 |4 − 6| = 2  3·2 = 6 

   

5 

  2  10 |5 − 6| = 1  2·1 = 2 

   

6 

  3  18 |6 − 6| = 0  3·0 = 0 

   

7 

  2  14 |7 − 6| = 1  2·1 = 2 

   

8 

  3  24 |8 − 6| = 2  3·2 = 6 

   

9 

  1    9 |9 − 6| = 3  1·3 = 3 

 N = 15 ∑fx = 90  ∑f·|𝑥 − 𝑥 | = 22 

 

: x =  
∑𝑓·𝑥

𝑁
 = 

90

15
 = 6  

 

 = 
∑𝑓 ( 𝑥−𝑥 )

𝑁
 = 

22

15
 = 1,5 

 

 



 

  √
·∑𝑓𝑥2− ( ∑𝑓𝑥 )2

𝑁 ( 𝑁−  1 )
 



. 

                         

s = √
𝑁·∑ 𝑥2 − (∑𝑓𝑥)2

𝑁( 𝑁−1 )
     =  √

15·586− 902

15( 15−1 )
  =  √

8790 −8100

210
   

 

s = √
690

210
  = √ 3,2857  =  1,8                                                                                        

 



 √
𝑁∑𝑓𝑥2− (∑𝑓𝑥)2

𝑁( 𝑁−1 )
 

 

s = √
𝑁∑𝑓𝑥2  − ( ∑𝑓𝑥 )2

𝑁( 𝑁−1 )
  = √

25·12240− 4902

25( 25−1 )
 = 

 

s = √
306000−240100

600
  =  √

65900

600 
   =   √109,83    =  10,48 

 



𝑠

�̅�

�̅�

 



 �̅� 𝑥 ̅

200

1400

8

30

 

 



5+6

2
 
11

2

L + 
𝑘

𝑓𝑚
 · c 

 

 

ℎ

𝐻

𝑘

𝑓𝑚

𝐻𝑙𝑢𝑡𝑖𝑛𝑛

𝐻𝑒𝑖𝑙𝑑𝑖𝑛



 

 

 

 

Miðgildi = L + 
𝑘

𝑓𝑚
 · c 

 

 

 

3

8

Þyngd 

kg. 

Tíðni 

f 

Samanlögð  

tíðni 

60 - 64 5 5 

65 - 69 3 8 

 70 - 74 6 14 

75 - 79 8 22 

80 - 84 8 30 

  85 - 89 6  

90 - 94 6  

95 - 99 8  

   



 
79+80

2

→

 

 



 

 

 

 



          



       

 

 

 

 

 



 

 

 

 



 

          

 

 

 



 

 

 

 

                 

 

 



 

 

                   

                                  r =1 

 

 

 

                                                   r =  3                                     

 



 

[
𝑛
𝑘

]



 

1

6

1

6
 ·  

1

6

1

36
 

 



 

 

 

 



 

 

                                                                                                                             

 



 



 

 

 

 

 



[
𝒏
𝒌

]

 

 



  

 

 



 

[
𝑛
𝑘

]

 

 

 

 

 

 

 



ℎ

𝐻

𝑘

𝑛

 
𝐹𝑗ö𝑙𝑑𝑖 ú𝑡𝑘𝑜𝑚𝑎 𝑠𝑒𝑚 𝑘𝑜𝑚𝑎 𝑢𝑝𝑝

𝑀ö𝑔𝑢𝑙𝑒𝑔𝑢𝑟 ℎ𝑒𝑖𝑙𝑑𝑎𝑟𝑓𝑗ö𝑙𝑑𝑖 =𝐴𝑙𝑙𝑖𝑟 𝑚ö𝑔𝑢𝑙𝑒𝑖𝑘𝑎𝑟𝑛𝑖𝑟 

 
ℎ

𝐻



 

1

2

1

2

1

6

1

6

1

6

1

6

1

6

1

6

1

6

1

6
 

6

6
 



 

 

 

 

 

 

  

3

7

4

7

3

7

4

7

7

7

 



 

 

       

                                             

1

4

1

4

1

2

1

4
 

1

4

1

2

4

4
                                                          

  

  



 
1

6

1

6

1

6

1

6

1

6

1

6

6

6

 

+ 1 2 3 4 5 6 

 

1         2 3 4 5 6 7 

2 3 4 5 6 7 8 

3 4 5 6 7 8 9 

4 5 6 7 8 9 10 

5 6 7 8 9 10 11 

6 7 8 9 10 11 12 

 

 



1

36

4

36

1

9

6

36

1

6

18

36

1

2

 



Byrja. 

 

                                          0,5                     0,5    

 

                                  Þ                                            B 

 

                  0,5                      0,5                 0,5                      0,5 

 

         Þ                                          B      Þ                                          B 

      ÞÞ    ÞB     BÞ                               BB 

0,5·0,5=0,25      0,5·0,5=0,25   0,5·0,5=0,25     0,5·0,5=0.25 

0,25 + 0,25 + 0,25 + 0,25 = 1,00 = 100% 



                                     .            

                     0,5                                 

                    Þ                                   

    0,5                                                 

  Þ      

 

    Þ   Þ           Þ   B           S   B            B   B 

    0,25     +     0,25     +    0,25     +      0,25 

 

    
1

4
    +  

1

4
   +   

1

4
  +  

1

4
  =  

4

4
  =  1,00  =  100% 

 

 

 



                     

                   

         

 

 

                                                     Byrja. 

                                
4

7
                           

3

7
 

                              S H 

                      
4

7
                 

3

7
               

4

7
                     

3

7
 

                S                            H          S    H 

                      

       S   S              S   H                H    S                H    H 

  
4

7
 · 

4

7
  = 

16

49
      

4

7
 · 

3

7
 = 

12

49
      

3

7
 · 

4

7
 = 

12

49
       

3

7
 · 

3

7
 = 

9

49
 

 

 
16

49
  +  

12

49
  +  

12

49
  +  

9

49
  =  

49

49
  = 1,00 = 100%      →                                                                      



 

      S   S                  S   H                  H   S                  H   H 

   
4

7
 · 

4

7
 = 

16

49
          

4

7
 · 

3

7
 = 

12

49
       

3

7
 · 

4

7
 = 

12

49
        

3

7
 · 

3

7
 = 

9

49
 

 

-    SS og HH =  
16

49 
 + 

9

49
 = 

25

49
 

 

  SH og HS =  
12

49 
 + 

12

49
 = 

24

49
 

 

  SS = SH + HS + HH = 
12

49
 + 

12

49
 + 

9

49
 = 

33

49
 

 



 

 

 

 

 

→



 

       S   S                  S   H               H   S                H   H 

   
4

7
 ·  

3

6
 = 

12

42
        

4

7
 · 

3

6
 = 

12

42
      

3

7
 · 

4

6
 = 

12

42
      

3

7
 · 

2

6
 = 

6

42
                                                                                                          

12

42
 + 

12

42
 + 

12

42
 + 

6

42
 = 

42

42
 = 1,00 = 100% 

 

 

 

 

 

                 

         

 Skál 1                                              Skál 2 

             →                                                                                                     



 

 

                                                     . 

                                   

                                      
4

7
                          

3

7
 

                                    

                               S                                            H 

                      

               
5

8
                  

3

8
         

4

8
                 

4

8
           

              S                                    H      S                                  H 

                                                                               

    S   S                     S   H                H   S                  H   H 

  
4

7
 · 

5

8
 = 

20

56
            

4

7
 · 

3

8
 = 

12

56
          

3

7
 · 

4

8
 = 

12

56
         

3

7
 · 

4

8
 = 

12

56
 

 

 
20

56
 + 

12

56
 + 

12

56
 + 

12

56
 = 

56

56
  = 1,00 = 100% 



1

2

1

2

                                                 

1

2

1

2

1

2

1

8

1

8
   

1

8

1

8

1

8

1

8

1

8
  

1

8

1

8

8

8



Líkinda = P = 
𝑘

𝑓𝑚
  og prósentu = % = 

ℎ

𝐻
 

                                                       



                                                                

  = 
𝑎

𝑏
 

ℎ

𝐻

 

 
ℎ

𝐻
 = % 



P =[
𝑛
𝑘

]·pk·qn - k      

[
n
k

]



1

6

1

6

5

6

1

2

1

2

[
𝑛
𝑘

] 

(
1

2
)

3

(
1

2
)

4

 
1

8
·  

1

16

35

128
 



[
𝑛
𝑘

]

1

3

2

3

(
1

3
)

2

(
2

3
)

4 1

9

16

81

80

243
 



P = [
𝑛
𝑘

] · pk · qn - k 

[
𝑛

𝑘
]

 



           y 

     5      y = x 

     4  

     3  

     2  

     1 

                                                              x               

     0      1     2     3     4    5      

 

                                                                                                                                                                                        

       



             

       

 

             



 

              y 

     5   . . . . . . . . . . . . . . . . .                                  

     4   . . . . . . . . . . . . . . . . .   

     3   . . . . . . . . . . . . . . . . . 

     2   . . . . . . . . . . . . . . . . . 

     1   . . . . . . . . . . . . . . . . .                   x 

     0     1     2     3     4     5 

 

rxy = 
𝑁∑𝑥·𝑦− ∑𝑥·∑𝑦

√(𝑁∑𝑥2 − (∑𝑥)2) ( 𝑁∑𝑦2 − (∑𝑦)2 )
 



∑

 



 

rxy = 
𝑁∑𝑥·𝑦− ∑𝑥·∑𝑦

√( 𝑁∑𝑥2− (∑𝑥)2 ) ( 𝑁∑𝑦2− (∑𝑦)2) 
 =  

 

rxy = 
6·191−29·35

√( 6·167−292) ( 6·235− 352)
 = 

 

rxy = 
1146−1015

√( 1002−841 ) ( 1410−1225 )
 = 

 

rxy = 
131

√161 ·185 
  = 

131

√29785
  = 

131

172,58
 = 0,76 = 76% fylgni. 



 

 

 

 

rxy =
𝑁·∑𝑥·𝑦− ∑𝑥·∑𝑦

√( 𝑁·∑𝑥2− (∑𝑥)2) ( 𝑁·∑𝑦2− (∑𝑦)2)
 =  

 

x y x2 y2 x·y 

2 10 4 100 20 

3 5 9 25 15 

4 6 16 36 24 

5 7 25 49 35 

7 4 49 16 28 

8 3 64 9 24 

∑x = 

29 

∑y = 

35 

∑x2 = 

167 

∑y2 = 

235 

∑x·y = 

146 



rxy = 
6·146−29·35

√( 6·167 − 292 )  ( 6·235 − 352 ) 
 = 

                                                   

rxy = 
876−1015

√(  1002 − 841 ) ( 1410 −1225 )  
 = 

 

rxy = 
−139

√161·185 
 = 

−139

√29785
  = 

−139

172,58
 = - 0,80,54 = - 80,54% 

 

 

 



rs = 1 - 
6·∑𝐷2

𝑁( 𝑁2−1 )
  

 

 

 

        rs = 1 - 

6·∑𝐷2

𝑁 ( 𝑁2−1 )
 

 



        rs = 1 -  
6·8

6 ( 36−1 )
 

 

rs = 1 - 
48

6·35
  =  1 - 

48

210
  =   

162

210
 =   

27

35
  = 0,77 = 77% Fylgni. 

 

 

 

 

   
4+5

2
  =  4,5 



 

rs = 1 - 
6·∑𝐷2

𝑁 ( 𝑁2−1 )
  = 1 - 

6·19

6 ( 62−1)
  = 1 - 

114

6( 36−1 )
  = 

 

rs = 1 - 
114

6·35
  =  1 - 

114

210
  = 

96

210 
 = 

16

35 
 = 0,46 = 46% fylgni. 



                                                                        

              



         



 

 

 

 



     Z = 
𝑥− 𝜇

𝜎
 

 

𝜇

𝜎

 

 

 



± 

 

±

 



±

 

 

±

 

 



 

Z = 
𝑥 − 𝜇

𝜎
 

𝜇

𝜎

 

 

 

 



 

𝜎

 

 

 

 

𝜎

 



      

                                   𝜎 = 16 

                                                             𝜇 = 60 

Z = 
𝑥− 𝜇

𝜎
                                             x = 80 

 

Z = 
80−60

16
   =   

20

16
  =  1,25 

 



 𝜇 = 750 stig.  𝜎 = 35 stig.   Z = 25% 

Z = 25% þá er Z = - 0,67 stig.  Sjá mynd: 

 

Z = 
𝑥− 𝜇

𝜎
         Z = -0,67,     𝜇  = 750 stig.     𝜎 = 35 stig. 

 

-0,67 =  
𝑥−750

35
           

-0,67·35 = x – 750             

750 – 0,67·35 = x 

726,55 = x 

x = 726,55 stig 

 



 = 
ℎ

𝐻
   þá er   % = 

140

700
  = 20%                                    

 

Z = 
𝑥− 𝜇

𝜎
               Z = -0,84,     𝜇 = 175,      𝜎 = 15 

-0,84 = 
𝑥−175

15
                 

-0,84·15 = x – 175                   

175 – 0,84·15 = x 

x = 175 – 12,6 

x = 162,4 cm. 



1. normalkúrfunnar 

2. z – stigs formúlunnar 

3. z– stigs töflunnar 

 

 

 

 

 

 

 



 



1

6

5

6

        
1

6
 
5

6

6

6

𝑠

𝑥 ̅

�̅�



 

ℎ

𝐻

ℎ

𝐻



�̅�
∑𝑓·𝑥

𝑁

�̅�

 

5+9

2

14

2



 

𝑘

𝑓𝑚
 

1

2

1

2

1

4

 

∑·𝑓|𝑥− �̅�|

𝑁

|𝑥 −  �̅�|

 



�̅�

            𝑥 ̅
∑𝑥

𝑁

�̅�

 

 

 



ℎ

𝐻

 

 

 

 

           rxy =  
𝑁·∑𝑥·𝑦− ∑𝑥·∑𝑦

√( 𝑁·∑𝑥2− ( ∑𝑥)2)  ( 𝑁·∑𝑦2− (∑𝑥)2) 
  



6∑𝐷2

𝑁 ( 𝑁2−1 )

 

[
𝑛
𝑟

]

 

 



1

6

1

6
 
2

6

1

3

 

  

 

√
∑( 𝑥− 𝑥)̅̅ ̅

𝑁−1

�̅�



          s = √
𝑁·∑𝑓·𝑥2−(∑𝑓·)2

𝑁 ( 𝑁−1 )
   

 

 

 

 

 

 



 

 

                             



[
𝑛
𝑘

]

[
𝑛
𝑘

]

 

�̅�𝑣

�̅�𝑣

∑( 𝑣·𝑥 )

∑𝑣

�̅�𝑣



 
𝑥− 𝜇

𝜎

𝜇

𝜎

  

 

 

 

                             

                          


